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1. oO0<a<2¥dd, /(a-2)2+ /(2-a)? &5

@—2a+4 @ 2a+4 ® —2a-4
@ 2a-4 ® -2a

~&B

0<a<?2°H
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(a+ 2b)(a - b) = a® + ab - 2b*
w2hA] ab O] A= 101t
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7. (a+b)(a-b)=d®-b* = °l&st Atslr] 7 dore 227

O 1982 @ 1012 ®)47 x 53

@ 101 x 103 ® 203 x 302

B

@ 1982 = (200 — 2)?

@ 1012 = (100 + 1)?

® 47 x 53 = (50 - 3)(50 + 3)

@ 101 x 103 = (100 + 1)(100 + 3)

® 203 x 302 = (2 x 100 + 3)(3 x 100 + 2)
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® 13x7

51 x 52 = (50 + 1)(50 + 2)
=502+ (142) x50+ 1x2
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3x2 + Ax—96 = 3(x + 4)(x + B) =2t 5}

3(x+4)(x+ B) =3x*+3(4+ B)x+ 12B
=3x% + Ax - 96

12B = 964l B= -8

A=3(4+B)=-12

A+ B=-20




10.  (x-2) (x+10) o] AN B2 a, (x4 3) (x—4) 2] A
Aol A 8] x o AE b2l & uf, x2 + bx +a B AESlstelet

c} -
=

>
> HED (x-5)(x+4)

~&B

(x=2) (x+10) = x> + 8x - 20 a=-20
(x+3)(x—4) =x*-x-12 wb=-1
¥ +bx+a=x*-x-20

= (x=35)(x+4)
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(a®> +3a—2)(a® +3a+4) - 27
=(-2)(t+4)-27=~+2-Q
=(t+0O)(t-©)

= (a*+3a+ ©)(a® + 3a - ©)
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a®>+3a =12t 5t
(t=2)(t+4)-27

=12 +2t-35

=(t+7)(t=5)

= (a®> +3a+7)(a® + 3a-5)
et @ =35 © =7, ©=5 °Jth.




Q158 stof et
+2)(x*+5x+6)+4

)=(x-1)(x=2)(x+2)(x+3) +4




13.

9 A(V48), B(
golet & uf, x| & Fstetet,

=
?jg
2|

S
|| L
o EP“

VIO2) Aele] M (vE) o thshed

AM = yx- V48 = vVx-4V3
MB = V192 - yx=8V3- Vx
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a—-b=>b

Soa=2b

E3 CHI} DH upFalA HER
(a+2b)V3+bV2=4V3+bV2
a+2b=14

b=1a=2

La+b=3




15, ax?+24x+b = (3x+c)? DU, A a, b, ¢ © & A2 k7

@ a=9,b=16, c=—4 @ a=9,b=8, c=4
®a=9,b=16, c=2 @a:9,b=16,C=4

® a=3,b=-8,c=4
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(3x 4+ ¢)? = 9x% + 6cx + 2

a=9
6c=24, c=14
b=c% b=16

a=9 b=16, c=4
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(1)a® +8a+A=(a+4)?
(2) x>+ Bx+9 = (x+ C)?

@16, 6, 3 @ 8,6,3 ® 16, 3, 6
@ 8, 3,6 ® 6, 8,3

~&B ~

a’>+8a+A=(a+4)?=a®>+8a+16, A=16
¥ +Bx+9=(x+C)?=x+2Cx+ C?
C?=9,C=4+3,B=2C, B==6
LA=16, B=6, C=3 (=B, C= %)




